HK BAK RA
5 FE A2 B BAKRA HANSAVFLEX

| _§:3 Lo
¢ ) 4 -
kB H without steel cover and cover gasket ' -
] ]T '
<

b
IR [E Y fReE R4k
BEEATHEFAFONELRRE P EH
REE
RERBETREFHRRE
b TE SRR B AN 75 1) 39 RSB BAE S BE AR (IR R VDI(E B T2 M th ) 8532305 £ 1)
THiEM
FHK BAK RA 13032 A% M 89 B B4R o
%W
B BRAERVI] BusmE A E B © D F G H BEE

(L) (kW) (mm) (mm) (mm) (mm) (mm) (mm) (kg)
HK BAK RA 03 3 0,16 220 160 150 165,0 G 1/4" 105,0 4x M6x8 120 1,4
HK BAK RA 06 6 0,36 260 220 180 200,0 G 3/8" 160,0 4x M6x8 150 1,7
HK BAK RA 12 10 0,60 310 240 215 225,0 G 3/8" 155,0 4x M8x12 165 2,3
HK BAK RA 20 17 0,72 366 288 245 270,0 G1/2" 192,0 4x M8x12 165 4,3
HK BAK RA 30 27 0,92 490 340 275 326,0 G1/2" 176,0 4x M10x10 134 5,0
HK BAK RA 44 40 1,04 515 415 305 341,0 G1/2" 241,0 4x M10x14 244 7,0
HK BAK RA 70 63 1,16 605 465 355 4225 G1/2" 282,5 4x M10x14 294 7,0
HK BAK RA 130 123 2,10 757 597 396 557,0 G1/2" 397,0 4x M10x14 285 25,0
BB (TEETF) kg - BURTHE* P [kW] (At =40 K:BA D RERTHRESRKHS - RIHBRUE RHEERET
Wi

HK ST BAK RA BAK RA Bl Ef5HE M=
HK RS BAK RA FTF BAKRA Bk E R 35
HK FUSS BAK RA  BAK RAR4S i I

HK LR BAK RA BAK RABUBEES MR

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
06.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



